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(1) The following types of cells are found more in adipose tissue 
(a) Plasma cells    (b) Mast cells   
(c) Fat cells     (d) None 

(a)     (b)   
(c)     (d)  
 

(2) Coughing of blood means - 
(a)  Bronchiectasis    (b) Cynosis   
(c) Hemoptysis    (d) None  

  
(a) Bronchiectasis    (b) Cynosis  
(c)  Hemoptysis    (d) 

(3)  Which of the following is a passive process - 
(a)  Inhalation     (b) Exhalation    
(c) Breathing     (d) None 

  
(a)      (b)     
(c)     (d)  
 

(4)  Inflammation of the Heart’s muscles and its membrane is - - 
(a)  Endocarditis    (b) Myocarditis   
(c) Pericarditis     (d) all 

  

(a) Endocarditis    (b) Myocarditis    
(c) Pericarditis    (d)  

 



(5) The left side of the Heart has - 
(a)  Aortic valve    (b) Pulmonary valve    
(c) Tri-cuspid valve    (d) None 

 
(a) Aortic valve    (b) Pulmonary valve  
(c) Tri-cuspid valve   (d)  

(6) Good Cholesterol is - 
(a) HDL      (b) LDL   
(c) VLDL     (d) None 

  
(a) HDL      (b) LDL  
(c) VLDL   (d) 
 

(7) Pacemaker is also known as - 
(a)  SA Node     (b) AV Node  
(c) AV Bundle     (d) None  

   
(a) SA Node     (b) AV Node 
(c) AV Bundle   (d)   

(8) Anemia is caused by deficiency of - 
(a)  Iron      (b) Folic Acid    
(c) Both      (d) None  

 
(a)      (b)      
(c)    (d)  
 

(9) Hydrochloric acid is - 
(a)  True electrolyte    (b) Strong electrolyte  
(c)  Weak electrolyte   (d) None  
Hydrochloric acid  
(a)  True electrolyte    (b) Strong electrolyte  
(c)  Weak electrolyte    (d) 

(10) Phagocytosis and production of antibodies are functions of - 
(a)  Leucocyte     (b) Thrombocyte   
(c) Erythrocyte    (d) None  
Phagocytosis  Antibody  
(a) Leucocyte     (b) Thrombocyte  
(c)  Erythrocyte (d) 

  



 
(11) The smallest and narrowest blood vessels are called - 

(a)  Veins     (b) Vena cava 
(c) Venules     (d) None  

 
(a) Veins     (b) Vena cava    
(c)  Venules     (d) 
 

(12) Hormone erythropoietin is secreted by - 
(a)  Spleen     (b) Liver  
(c) Kidneys     (d) None  

 
(a)     (b)   
(c)    (d) 
 

(13) Positively-charged ions are called as - 
(a)  Cations     (b) Anions     
(c) Both      (d) None  

 
(a)      (b)      
(c)     (d)  
 

(14) Bowman’s capsule is a part of - 
(a) Neuron     (b) Nephron    
(c) Neutron      (d) None  

 
(a)  Neuron      (b) Nephron 
(c) Neutron      (d) 

(15) Abnormal apoptosis probably occurs in - 
(a) Diabetes     (b) Cancer   
(c) Hypertension     (d) None  

 
(a)     (b)    
(c)    (d)  
 

(16) Which of the following is a part of digestive system - 
(a) Oesophagus    (b) Trachea  
(c) Uvula      (d) None  

 
(a) Oesophagus    (b) Trachea  
(c) Uvula     (d)  

  



 
(17) The function of lymphatic system is to maintain - 

(a)  Homeostasis    (b) Immunity    
(c) Both      (d) None  

 
(a)   (b)    
(c)   (d)  

(18) The balance between external and internal atmosphere of body is 
known as - 
(a)  Homeostasis    (b) Blood stasis  
(c) Qi stasis     (d) None  

 
(a)     (b)   
(c) Qi stasis (d) 
 

(19) Excess glucose in urine may indicate – 
(a) Diabetes     (b) Hypoglycemia  
(c) Both       (d) None 

 
(a)      (b) 
(c)       (d) 
 

(20) Pharynx is connected to the - 
(a) Upper esophagus   (b) Lower esophagus   
(c) Stomach     (d) None 

(a)      (b)    
(c)      (d)   
 

(21) The intracellular compartment accommodates – 
(a) 20% water      (b) 40% Water  
(c) 60% Water      (d) None 

 
(a) 20%       (b) 40%  
(c) 60%       (d) 

  



 
(22)   Pneumonia is a disease of - 

(a) Lungs      (b) Heart  
(c) Liver       (d) None  

 
(a)      (b)   
(c)      (d) 

(23) Glucose is a type of - 
(a) Carbohydrate     (b) Protein   
(c) Lipid      (d) None  

 
(a)  Carbohydrate     (b) Protein   
(c) Lipid      (d)   
 

(24) Which cell organelle gets activated during cell-division - 
(a) Centrosome    (b) Ribosome    
(c) Lysosome     (d) None 

 
(a) Centrosome    (b) Ribosome    
(c) Lysosome     (d) 
 

(25) The component of chromosomes that carries genetic message is - 
(a) DNA      (b) RNA  
(c) Both      (d) None  

 
(a)  DNA      (b) RNA 
(c)  (d)  
  

(26) Urine is formed in - 
(a) Kidneys     (b) Ureter  
(c) Urinary bladder    (d) None  

 
(a)      (b)   
(c)    (d) 

(27) The portion from nasal cavity to trachea is called - 
(a) Pharynx      (b) Larynx  
(c) Bronchi     (d) None  

trachea  
(a) Pharynx      (b) Larynx 
(c) Bronchi     (d) 
 
 
 
 



(28) Each nephron consists of - 
(a) Glomerulus    (b) Pelvis   
(c) Ureter     (d) None  

 
(a) Glomerulus    (b) Pelvis  
(c)   (d) 

(29) Specialised muscles of Heart are called as - 
(a) Myocardium    (b) Endocardium  
(c) Pericardium    (d) None  

 
(a) Myocardium    (b) Endocardium  
(c) Pericardium    (d)  

 
(30) Diffusion of gases takes place in - 

(a) Bronchi     (b) Alveoli  
(c) Villi      (d) None  

 
(a) Bronchi     (b) Alveoli 
(c) Villi     (d) 
 

(31) Which of the following is a part of small intestine - 
(a) Cecum     (b) Rectum    
(c) Ileum     (d) None  

 
(a)     (b)     
(c)      (d)  
 

(32) Which of the following is a micronutrient - 
(a) Protein     (b) Fat  
(c) Vitamin     (d) None  

 
(a)    (b)   
(c) (d) 

(33) When sugar in blood is reduced, control centre in the brain gets 
signal of - 

(a) Thirst     (b) Hunger    
(c) Sleep     (d) None  

(a)      (b)    
(c)     (d) 



(34) How many types of T-lymphocytes are there - 
(a) Two      (b) Three    
(c) Four      (d) None 
T-lymphocytes  
(a)        (b)     
(c)     (d) 

(35) The barrier between the ECF and ICF is - 
(a) Endoplasmic reticulum   (b) Golgi apparatus   
(c) Cell Membrane    (d) None  
ECF  ICF  
(a) Endoplasmic reticulum   (b) Golgi apparatus  
(c) (d)  

(36) Dyspnoea means difficulty in - 
(a) Hearing     (b) Breathing   
(c) Walking     (d) None  
Dyspnoea  
(a)     (b)    
(c)     (d)  

(37) High level of uric acid may indicate - 
(a) Renal cholic     (b) Gout   
(c) UTI      (d) None 

 
(a) Renal cholic     (b) Gout   
(c) UTI     (d)  

(38) The seat of lymphocyte production in Spleen is - 
(a)  Red Pulp     (b) White pulp 
(c) Both      (d) None  

 
(a)   (b)   
(c)     (d) 
 

(39) In DLC, D stands for– 
(a) Deficial     (b) Distal  
(c) Differential     (d) None  
DLC D  
(a) Deficial     (b) Distal  
(c) Differential   (d) 

  



 
(40)  In ECG, C stands for - 

(a) Central     (b) Cardio   
(c) Current     (d) None  
ECG C
(a) Central     (b) Cardio 
(c) Current     (d)  
 

(41) Human kidneys are shaped like– 
(a) Grams      (b) Beans  
(c) Grapes      (d) None  

 
(a)      (b)   
(c)     (d) 
 

(42) Heparin and Histamine are contained in - 
(a) Neutrophils    (b) Eosinophils   
(c) Basophils     (d) None  

 
(a) Neutrophils    (b) Eosinophils    
(c) Basophils     (d) 

(43) The surface of body is covered by - 
(a) Connective tissue   (b) Epithelial tissue   
(c) Muscular tissue    (d) None  

 
(a)      (b)   
(c)   (d) 

 
(44) Which protein is required for the formation of anti bodies - 

(a) Albumin     (b) Globulin    
(c) Fibrinogen     (d) None 

 
(a) Albumin     (b) Globulin  
(c) Fibrinogen     (d) 

(45) Time required for Erythropoiesis is - 
(a) 6 days     (b) 9 days  
(c) 12 days     (d) None  
Erythropoiesis  
(a)  6      (b) 9   
(c) 12  (d) 

 



(46) Blood is a type of - 
(a) Cell      (b) Connective tissue  
(c) Epithelial tissue    (d) None  

 
(a)     (b)      
(c)     (d) 

(47) The universal recipient blood group is - 
(a) A      (b) B  
(c) AB      (d) None  

 
(a) A      (b) B  
(c) AB      (d)  

(48) Enzyme that breaks down proteins in stomach - 
(a) Amylase     (b) Pepsin    
(c) Ptylin     (d) None  

 
(a) Amylase     (b) Pepsin    
(c) Ptylin     (d)  

(49) Lymph  is derived from - 
(a) Cerebral fluid    (b) Spinal fluid  
(c) Interstitial fluid    (d) None  

 
(a) Cerebral fluid    (b) Spinal fluid  
(c) Interstitial fluid (d)  

(50) 75% of Saliva is secreted by - 
(a) Parotid glands    (b) Submandibular glands 
(c) Sublingual glands   (d) None  
75%  
(a)  Parotid glands    (b) Submandibular glands 
(c) Sublingual glands   (d)   

   ………..
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(1) Acute Anuria will be treated by - 

(a)  K - 1     (b) K - 8   
(c) K – 10    (d) None 

(a)  K - 1     (b) K - 8  
(c) K – 10    (d) 

(2) Point related to Trachea is - 

(a)  Lu - 8    (b) Lu - 10  
(c) Lu - 11    (d) None 
Trachea
(a)  Lu - 8    (b) Lu - 10 
(c) Lu - 11    (d) 

(3)  Congenital disease will be treated by - 
(a)  Kidney Yin deficiency  (b) Kidney essence 
(c) Kidney Qi deficiency  (d) None 

(a)  Kidney Yin deficiency  (b) Kidney essence  
(c) Kidney Qi deficiency  (d)

(4)  Natural Pacemaker in Heart is - 

(a)  Bundle of His   (b) A.V. Node   

(c) S.A. Node    (d) None 

(a) Bundle of His   (b) A.V. Node 
(c) S.A. Node    (d) 



(5) Whooping cough in infants is due to - 

(a)  External wind   (b) Acute virus infection 

(c) External cold   (d) None 

(a)  External wind   (b) Acute virus infection  

(c) External cold (d) 

(6) Coronary arteries supply blood to - 

(a)  Heart     (b) Liver   

(c) Kidney    (d) None 

Coronary arteries

(a)       (b) 

(c)     (d)

(7) Excess belching is due to - 
(a)  Liver     (b) Lungs  
(c) Kidney    (d) None 

(a)    (b) 
(c)      (d)

(8) Cold back and knee is due to - 

(a) Kidney    (b) Liver    

(c) Stomach    (d) None

(a)       (b) 

(c)    (d) 

(9) Jaundice related organ is - 

(a)  Lungs    (b) Kidney   

(c) Liver     (d) None 

(a)      (b) 

(c)     (d) 



(10) Left side of the tongue is related to - 

(a)  Liver      (b) Stomach  

(c) Kidney     (d) None 

(a)      (b) 

(c)     (d) 

(11) Increased Heart beat will be treated by - 
(a)  Liv - 1    (b) St - 36 
(c)  H - 7    (d) None 
Heart beat
(a)  Liv - 1    (b) St - 36
(c) H - 7     (d) 

(12) Edema of lower half of body is controlled by - 

(a)  Kidney    (b) Stomach  
(c) Liver     (d) None  

(a)    (b) 
(c)   (d) 

(13) Missing pulse indicates - 

(a)  Lungs Qi deficiency  (b) Spleen Qi deficiency  
(c) Heart yang deficiency  (d) None  
Missing pulse
(a) Lungs Qi deficiency  (b) Spleen Qi deficiency  
(c) Heart yang deficiency (d) 

(14) Tinnitus will be treated by - 

(a)  Stomach    (b) Kidney  
(c) Liver     (d) None  

(a)   (b) 
(c)   (d)

(15) Chronic Leucorrhea will be treated by - 
(a)  Heart Qi deficiency  (b) Kidney Qi deficiency  
(c) Lungs Qi deficiency  (d) None  
Chronic Leucorrhea
(a) Heart Qi deficiency   (b) Kidney Qi deficiency 
(c) Lungs Qi deficiency (d) 



(16) Inhalation is controlled by - 
(a)  Stomach    (b) Liver 
(c) Kidney    (d) None  

(a)      (b) 
(c)     (d) 

(17) Blood in urine indicates - 
(a)  Heat condition   (b) Deficient condition   
(c) Cold condition   (d) None  

(a)     (b) 
(c) (d) 

(18) Being always hungry indicates - 
(a) Heart Qi deficiency  (b) Heat in stomach   
(c) Lungs Qi deficiency  (d) None  

(a) Qi   (b) 
(c) Qi   (d)

(19) Bleeding anywhere in the body is controlled by - 
(a)  Sp - 8    (b) Sp - 10  
(c) Sp - 6    (d) None  

(a)  Sp - 8    (b) Sp - 10     
(c) Sp - 6  (d)

(20) Thick purulent cough is due to - 

(a) Qi deficiency   (b) Heat condition   

(c) Cold condition   (d) None  

(a)     (b) 
(c)    (d)

(21)  Feeling of coldness in hands and feet indicates - 

(a)  Heart Yang deficiency  (b) Liver Qi deficiency   
(c) Both     (d) None  

(a) Heart Yang deficiency  (b) Liver Qi deficiency
(c)  (d) 



(22) Heart is controlled by - 

(a) Liver     (b) Stomach  
(c) Kidney    (d) None  

(a)      (b)  
(c)     (d) 

(23) Gall Bladder stone may be due to - 

(a)  Qi deficiency   (b) Cold type  
(c) Damp heat    (d) None  

(a)    (b) 
(c) (d) 

(24) Eating food late at night causes - 

(a)  Lungs Qi deficiency  (b) Kidney Qi deficiency  
(c) Stomach Yin deficiency (d) None  

(a) (b) 
(c)   (d)

(25) Abdominal masses and soft lumps is due to - 

(a)  Stasis of Qi   (b) Hot condition  
(c) Deficiency of Qi   (d) None  

(a)     (b) 
(c)    (d)

(26) Organ source point of Liver is - 

(a)  Liv - 5    (b) Liv - 4  
(c) Liv - 3    (d) None  

Organ source 
(a) Liv - 5    (b) Liv - 4
(c) Liv - 3 (d)

(27) Cause of Hernia is - 

(a) Lungs Qi deficiency  (b) Spleen Yang deficiency  

(c) Spleen Qi deficiency  (d) None  

(a) Lungs Qi deficiency  (b) Spleen Yang deficiency
(c) Spleen Qi deficiency (d) 



(28) Kidney opens into - 

(a)  Ears     (b) Mouth  
(c) Nose     (d) None  

(a)     (b) 
(c)    (d)

(29) Person to talk a lot is related to  - 

(a) Spleen    (b) Heart    

(c) Lungs    (d) None  

(a)      (b) 
(c)   (d) 

(30) Abdominal distention with no pain is - 

(a)  Hot type       (b) Excess type     
(c) Deficiency type    (d) None  

(a)     (b) 
(c)   (d) 

(31) Five Palm Heat is a symptom of - 

(a) Liv Yin deficiency  (b) Kid Yin deficiency    

(c) Lu Yin deficiency  (d) None  

Five Palm Heat
(a)  Liv Yin deficiency   (b) Kid Yin deficiency 
(c) Lu Yin deficiency   (d)

(32) Luo-Connecting point of Lungs meridian is – 

(a) Lu - 7    (b) Lu - 8  

(c) Lu - 9    (d) None.  

Lungs meridian Luo-Connecting point
(a) Lu - 7    (b) Lu - 8 

(c) Lu - 9    (d) 

(33) Bad breath indicates - 

(a) Stomach heat   (b) Lungs Qi deficiency   

(c) Kidney Qi deficiency  (d) None  

(a)  Stomach heat   (b) Lungs Qi deficiency  
(c)  Kidney Qi deficiency (d) 



(34) Unconsciousness will be treated by - 
(a) K - 8     (b) K - 10    
(c) K – 1     (d) None  

(a) K – 8  (b) K – 10    
(c)  K – 1   (d)

(35) Purple colour of Lips indicates - 
(a) Cold condition   (b) Qi deficiency    
(c) Stasis of blood   (d) None  

(a) Cold condition   (b) Qi deficiency    
(c) Stasis of blood (d) 

(36) C.M.P. of Heart meridian is - 
(a) H – 8a    (b) H – 8c    
(c) H – 8b    (d) None  
Heart meridian C.M.P. 
(a) H – 8a    (b) H – 8c   
(c) H – 8b   (d)

(37) Pebbles like stool is related to - 
(a) Spleen    (b) Kidney   
(c) Liver     (d) None  

(a)      (b) 
(c)     (d)

(38) High Cholesterol will be treated by - 
(a) Pn – 2    (b) Pn - 3   
(c) Pn – 4    (d) None  
High Cholesterol
(a) Pn – 2    (b) Pn - 3    
(c)  Pn - 4    (d) 

(39) Oxygen point is - 
(a) Lu – 5    (b) Lu - 4   
(c) Lu – 3    (d) None  

(a) Lu – 5    (b) Lu - 4   
(c) Lu – 3   (d) 



(40) Nephron is related to - 
(a) Heart    (b) Liver  
(c) Kidney    (d) None  
Nephron 
(a)     (b) 
(c)      (d) 

(41) Winter season related element is - 
(a) Fire     (b) Earth  
(c) Water    (d) None  

(a)     (b) 
(c)       (d) 

(42) Liver is never – 
(a) Excess    (b) Deficient 
(c) Both     (d) None.  

(a)   (b) 
(c)  (d) 

(43) Pneumonia is related to - 
(a) Bronchi     (b) Alveoli  
(c) Pleura    (d) None  

(a)  Bronchi      (b) Alveoli 
(c) Pleura (d) 

(44) Offensive loose stool shows - 
(a) Dryness    (b) Damp cold  
(c) Damp heat    (d) None  

(a) Dryness    (b) Damp cold  
(c)  Damp heat  (d)

(45) UB type Sciatica will be treated by - 
(a) Yang Heel    (b) Ren Mo   
(c) Yin Heel    (d) None 
UB type Sciatica
(a) Yang Heel    (b) Ren Mo   
(c) Yin Heel  (d)



(46) Bone Marrow is nourished by - 

(a) Kidney    (b) Liver  

(c) Heart    (d) None  

(a)     (b) 
(c)   (d) 

(47) Breathlessness on going upstairs is due to - 

(a) Liver     (b) Heart    

(c) Stomach    (d) None  

(a)     (b) 
(c)   (d) 

(48) Red purulent discharge with urine indicates - 

(a) Deficient condition  (b) Excess condition    

(c) Both     (d) None  

(a)     (b) 
(c)   (d)

(49) Puffiness of face is due to - 

(a) Stomach    (b) Spleen  

(c) Kidney    (d) None  

(a)    (b) 
(c) (d)

(50) Night sweating indicates - 

(a) Heart Yang deficiency  (b) Lungs Qi deficiency  

(c) Stomach Qi deficiency  (d) None  

(a) Heart Yang deficiency  (b) Lungs Qi deficiency 
(c) Stomach Qi deficiency  (d) 

   ………..
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(1) Tonification colour of Chakra-5 is - 

(a)  Red     (b) Yellow    
(c) Green    (d) None 

(a)       (b) 
(c)   (d) 

(2) Activity of body is related to - 

(a)  Vaat     (b) Pitta    
(c) Kapha    (d) None 

(a)     (b) 
(c)    (d) 

(3)  Tonification colour of Aakash energy is - 
(a)  Violet     (b) Blue     
(c) Brown    (d) None  

(a)      (b) 
(c)    (d) 



(4)  Specific attributes of Prithvi element are - 

(a)  Subtle    (b) Soft    

(c) Stable    (d) None  

(a)      (b) 
(c)     (d) 

(5) Function “Digestion” is related to - 

(a)  Agni     (b) Jal    

(c) Prithvi    (d) None 

(a)      (b) 

(c) (d) 

(6) Energy of Kaal is - 

(a) Sankalp    (b) Motto    

(c) Ahankar    (d) None

(a)    (b) 

(c)  (d) 

(7) Which sense organ is plotted on Rt SF P jt - 

(a)  Ear     (b) Nose  

(c) Eyes     (d) None 

Rt SF P jt

(a)       (b) 

(c)      (d) 

(8) Mangal Grah related element is - 

(a) Vayu     (b) Agni    

(c) Jal     (d) None

(a)      (b) 

(c)  (d) 



(9) Body Hole Mouth is plotted on - 

(a)  Lt RF K jt    (b) Lt MF P jt  

(c) Lt SF P jt    (d) None 

(a)  Lt RF K jt    (b) Lt MF P jt

(c) Lt SF P jt    (d) 

(10) Sankalp is the energy of - 

(a)  Direction    (b) Time   

(c) Mind     (d) None 

(a)     (b) 

(c) (d) 

(11) Kledak is a type of - 
(a)  Vaat     (b) Pitta  
(c) Kapha    (d) None  

(a)   (b) 
(c)    (d) 

(12) Grah will be treated on - 

(a)  Lt palm    (b) Rt palm   
(c) Both     (d) None  

(a)  (b) 
(c)  (d) 

(13) Spleenomegaly wil be treated on - 

(a)  1/2 LHM    (b) 3/4 LHM  
(c) 5/6 LHM    (d) None  

(a)  1/2 LHM    (b) 3/4 LHM
(c) 5/6 LHM (d) 



(14) How many components of Ayurveda  are - 

(a)  2     (b) 4   
(c) 6     (d) None  

(a) 2     (b) 4   
(c) 6    (d) 

(15) Tarpak is a type of - 

(a)  Vaat     (b) Pitta   
(c) Kapha    (d) None  

(a) (b) 
(c) (d) 

(16) Lt IF K jt related organ is - 

(a)  Liver     (b) Heart   
(c) Lungs    (d) None  
 Lt IF K jt
(a) (b) 
(c)  (d) 

(17) Action organ ‘Arm’ is plotted on - 

(a)  Lt Ring finger   (b) Rt Ring finger   
(c) Rt Middle finger   (d) None 

(a)     (b) 
(c) (d) 

(18) Sharp is the specific attribute of - 

(a) Vayu     (b) Agni  

(c) Jal      (d) None  

(a)     (b) 
(c)   (d) 



(19) Finger related to Prithvi element are - 

(a)  4     (b) 5    
(c) 6     (d) None  

(a)  4     (b) 5    
(c) 6  (d) 

(20) Sedation colour of Jal element is  - 

(a) Red     (b) Yellow 

(c) Green    (d) None  

(a)      (b) 
(c) (d) 

(21) Main site of Sadhak pitta is - 

(a)  Lungs     (b) Heart   
(c) Kidney    (d) None 

(a)    (b) 
(c) (d) 

(22) Action organ ‘Legs” are plotted on: 

(a) Lt RF P jt    (b) Rt RF P jt  

(c) Lt MF P jt      (d) None  

(a)  Lt RF P jt    (b) Rt RF P jt 
(c) Lt MF P jt   (d) 

(23) Ranjak is a type of - 

(a)  Vaat     (b) Pitta   
(c) Kapha    (d) None  

(a)     (b) 
(c) (d) 



(24) Hemoglobin will be treated on - 

(a)  0,9 Spr    (b) 1,2 Spr   
(c) 3,4 Spr    (d) None  

(a)  0,9 Spr    (b) 1,2 Spr   
(c) 3,4 Spr    (d) 

(25) High Cholesterol will be treated by - 

(a)  Lt IF 1st Spr   (b) Lt RF 4th Spr   
(c) Lt IF 5th Spr   (d) None 

(a)  Lt IF 1st Spr    (b) Lt RF 4th

(c) Lt IF 5th Spr    (d) 

(26) Main site of Pran Vayu is - 

(a)  Abdomen    (b) Liver   
(c) Chest    (d) None  

(a)      (b) 
(c) (d) 

(27) Gastric will be treated on - 

(a) *1,4↑     (b) *2,3↓   

(c) Both     (d) None  

(a) *1,4↑     (b) *2,3↓ 
(c) (d) 

(28) ESR will be treated by - 

(a)  Lt RF 5/6 LHM   (b) Lt IF 1/2 LHM   
(c) Lt MF 3/4 LHM   (d) None 
ESR
(a) Lt RF 5/6 LHM   (b) Lt IF 1/2 LHM 
(c) Lt MF 3/4 LHM  (d) 



(29) Weak immunity will be treated on - 

(a) *RMM 1,2    (b) *LMM 7,8   

(c) *RMM 0,9    (d) None  

(a)  *RMM 1,2    (b) *LMM 7,8 
(c) *RMM 0,9   (d) 

(30) Finger No.(3 to 5) – 3 Spr is the treatment for - 

(a)  Leg pain    (b) Fever   
(c) Gastric problem   (d) None  

(a)     (b) 
(c)   (d) 

(31) Plasma tissue will be treated on - 

(a) Finger No. 1`   (b) Finger No. 3    

(c) Finger No. 4   (d) None  

(a)  1   (b) 3 
(c) 4 (d) 

(32) Platelet will be treated on – 

(a) Both Index finger  (b) Both Middle finger  

(c) Both Ring finger   (d) None  

(a)    (b) 

(c)    (d) 

(33) Bone tissue related element is - 

(a) Jal     (b) Earth  

(c) Kaal     (d) None  

(a)       (b) 
(c) (d) 



(34) Lumbo sacral region will be treated on - 

(a) *RMM 7,8,9   (b) *RMM 3,4,5   

(c) *RMM 0,1,2   (d) None  

(a) *RMM 7,8,9   (b) *RMM 3,4,5   
(c) *RMM 0,1,2  (d) 

(35) Cervical will be treated on - 

(a) Lt RF 0,1,2 Spr   (b) Lt RF 3,4,5 Spr   

(c) Lt RF 7,8,9 Spr   (d) None  

(a) Lt RF 0,1,2 Spr 
(c)  Lt RF 7,8,9 Spr (d) 

(36) Burning sensation in Anal region will be treated on - 

(a) Rt Small finger   (b) Lt Index finger   

(c) Rt Ring finger   (d) None  

(a)    (b) 
(c)    (d) 

(37) Spiral meridian is combination of - 

(a) Vertical    (b) Horizontal     

(c) Both     (d) None  

(a)      (b) 
(c)    (d) 

(38) Types of Vaat dosha are - 

(a) 4     (b) 5    

(c) 6     (d) None 

(a) 4     (b) 5   
(c)  6  (d) 



(39) Total “LVM” is - 

(a) 5     (b) 6   

(c) 7     (d) None  

 “LVM”
(a)  5     (b) 6  
(c) 7    (d) 

(40) Frontal Lobe will be treated on - 

(a) Both Index finger  (b) Both Ring finger   

(c) Both Small finger  (d) None  

Frontal
(a)    (b) 
(c)   (d) 

(41) Radiance related element is - 

(a) Aakash    (b) Agni    

(c) Prithvi    (d) None  

(a)      (b) 
(c)   (d) 

(42) Thyroid glands related finger is – 

(a) Finger No.3   (b) Finger No.4  

(c) Finger No.6   (d) None  

(a)    (b) 

(c)    (d) 

(43) Sense organ tongue is plotted on - 

(a) Rt MF P jt     (b) Rt RF P jt  

(c) Rt IF P jt    (d) None  

(a) Rt MF P jt     (b) Rt RF P jt 
(c) Rt IF P jt (d) 



(44) Planet “Rahu” related element is - 

(a) Earth    (b) Time   

(c) Mann    (d) None   

(a)      (b) 
(c)      (d) 

(45) ‘Navel’ will be treated on - 

(a) Rt Thumb    (b) Lt Thumb    

(c) Rt Small finger   (d) None  

(a)    (b) 
(c) (d)

(46) ‘Hard’ is specific attribute of - 

(a) Water    (b) Earth  

(c) Time      (d) None  

(a)     (b) 
(c)    (d) 

(47) Treatment of “Hepatitis” will be on - 

(a) Finger No.2   (b) Finger No.3   

(c) Finger No.6   (d) None  

(a)     (b) 
(c)   (d) 

(48) Limbic system will be plotted on - 

(a) Rt Index finger   (b) Rt Ring finger  

(c) Rt Middle finger   (d) None  

(a)    (b) 
(c)     (d) 



(49) Pons will be treated on - 

(a) Finger No.6 V jt   (b) Finger No.8 K jt   

(c) Finger No.2 P jt   (d) None  

(a) Finger No.6 V jt   (b) Finger No.8 K jt 
(c) Finger No.2 P jt      (d) 

(50) Total number of Vertebrae in Thoracic spine is - 

(a) 10     (b) 12  

(c) 14     (d) None  

(a) 10     (b) 12 
(c)  14     (d) 
    ………… 


